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201742H18H

17 FEiBKE VS 10 b Ti=
H= A=

A T T A

I~ 7 e - BE % - e

B IKE 7 X A TR 7 BT
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3S -1 -50 [ri] 3NTX -3 500 11
> |mtl & | anT | -1 | 100 & | aNT | 2 | 200 3

3 |#zAml &g | 4as | = | 420 | & | 4s | = | 420

4 PWE=] [£3] 4S -3 -300 [£3] 2S = 110 9
5 | &kl A& 3NT | +1 | -430 ® 3NT | +1 | -430

6 ,?ﬁ [£3] 4H +2 480 1t 4H +1 450 1

7 PWE=] [ri] 5D = -600 x 5D = -600

8 TS [ri] 3NT +3 -490 x 3NT +2 -460 1
9 |FEAIL db 2D +2 130 it 2D +2 130
10 | \WHB [ri] 2S -2 200 [£3] 2C -1 -100 7
11 | X [£3] 4S = 420 [£3] 4S = 420
12 | Edb [ri] INT -1 50 1t 3C -1 -100 4

DATUMiT T
BiBXE b T= Y. X+ 15 | 21

SRERE/RE -5 BB/ ARX 2 &it 15 21
XBERER/ZRER T -2 SrhfE/ R 5 V.P. 7.99 | 12.01
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5 BRigE3C VS 3 g
= =
RSB P A E g P A E g RSB
36« KBRS R B it : EEf X . GE
& BRE 7 : ZBS 5 XU 74 . EBE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wkl & | 4Hx | 2 | 200 7 | aHx | 2 | 300 | 5
2 |@mdt] & | 2s | = | 120 | & | aNT | +1 | 120
3 |l & | 2s | +2| 170 & | 25 | +2 | 170
4 |wal @ | 3p | 3| 300 | &® | anT| = | 90 | o
5 |gdt| %= | aNT | +2 | 460} 7 | aNT | = | -400 2
6 |mm| B | aH | +1 | 450 | 4t | 4H | = | 420 | 1
7 |wal @ | s | +1 | 620 & | 2Hx | = | 670 15
8 |wk| 7 [ 3anT | +2 | 460 | 7 | 3NT | +3 | 490 | 1
o |mm| 4t | 2o | +3 | 10| 4t | 2p | +3 | 150
10| wal & | 3s | 2| 20| @ | 2¢ | -1 | 100 3
11 |wx|l & | 4s | = | 420 | @ | 45 | = | 420
12 |kl & [ anT | 2| so | & | INT | -2 | 50
DATUM&iit iFE
BRisiEX Pt E 45 v X+ 16 | 20
XBERT/BRE -3 /X 4 ait 16 | 20
BME/EEE -4 = E/ SRS 3 V.P. 8.62 | 11.38
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14 Dragonite VS 8 I &%
= A=
Dragonite TN EE TN EE Dragonite
c mEH IR : ISEKEN p| b = R:E5E
Tﬁﬁ : BRER 7 X% B : {IEE 7 . EEE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wmxl & |3NTx| = | 550 | & | 3NT | -2 | 100 12
2 |mit|l m | aNnT | +2 | 1220 | & | aNT | -2 | -200 ] 6
3 |mE| & | 4s | = | 420 & | 3s | +2 | 170 | 6
a |wal | 2s | 2| -100| B | 4s | 2 | 200] 3
5 |gat] & | aNT | +2 | 460§} & | aNT | +2 | -460
6 |mm| /| | 21 | 3 | 300 | 46 | 4an | +1 | 450 4
7 |wal & | sD | = | 600| ® | 1sx | = | 160 13
8 |wk| & | aNT | +3 | 400 | & | aNT | +2 | -460 1
o |mAE| 4t | 20 | +2 | 130 | 4 | anT | +4 | 210 2
10| wel & | 2s | 2| 20| & | 2¢ | -2 | -100]| 7
11 | Wkl & | 4s | = | 420 | & | 4s | = | 420
12 |gdtl 4t | 3¢ | 2 | 200| 7 | ANT | -2 | 50 6
DATUM%it I E
Dragonite I EsE Y. =] 22 38
E2/EER 16 RS Ke/{EEEED 5 ait 22 | 38
A E/ZEE -5 IERRER/AB A% 16 V.P. 53 | 14.7
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20 F#BCHANCE VS 15 RELBA
H= S
FEHCHANCE RUELA RUELA FEHCHANCE
it : BEMB IR : JLRERR it : JEoEE R 1BEE
M RER 7 @ K= B BURS 7 : BFEE

x| | R | m | R | mee| e | 2 |er axe| 20| T

1 TS 1t 4Sx = 590 [ri] 3NT 150 10

2 |l ®m | aNT | -2 | 200 & | aNT | 2 | 200 3

3 panyiic] 1t 2S +2 170 [£3] 2H +1 140 1

4 E=] [ri] 2NT -2 200 [£3] 4S -1 -100 7

5 it [ri] 3NT +2 -460 ® 3NT +2 -460

6 panyiie] 1t 4H +1 450 1t 4H = 420 1

7 PE=] x 5D = -600 [ri] 6D -1 100 12

8 TS [ri] 3NT +3 -490 [ri] 3NT +2 -460 1

9 panyiic] 1t 2D +2 130 1t 5D -1 -50 5

10 | \WHB 1t 4H -2 -200 1t 2H = 110 7

11 | W x 5Dx -1 100 [£3] 4S = 420

12 | Edb 1t 3C -1 -100 [ri] INT -1 50 4

DATUM&iit iFE
&EHEBCHANCE RUEBA Y, -1 27 32
PRAH/REE -10 SEIe/ R 3 &it 27 32
B =E/EFRR -3 LERER/aKIE = 10 V.P. 8.3 | 11.7
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21 EEMER VS 11 J-EEE
= HZ=
BINER T MZEE T MZEE BINER
it : TR IR RELE it R%E R . M
M . BT 7g : PrimiE EZES ik~ 7g . FE&E
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wx| & | 4Hx | 2 | 300 | & | aNT 200 11
> |@dt] & | aNT | 1 | 100 & | 2c -100
3 |5m@l 6 | 3s | +1| 170l m | 2s | +2 | 170
4 |wal & | 2sx| = | 60| m | 4s | -1 | -100 | 13
5 |mtl &= [ aNnT | +1 | 430 &= | aNT | +2 | 460 | 2
6 |FHALl & 1aH +1 450 1t 4H +1 450
7 |wa| & | 1sx | 2| 500 & | 1sx | 2 | 500
g8 |wxl @ [ anT | +2 | 460 7 | aNT | +3 | 400 | 1
o |#mm| 4 | 4D | +2 | 150 | 4t | 20 | +3 | 150
10 |wal 46 | 21 | 2| 200 & | 25 | -2 | 100 5
11 |wkl & | 4s | = | 420 | | as | = | 420
12 gl & | anT | 2| s0 | & | anT | 2| s0
DATUM&iit iFE
EMER [ NEEE r. X+ 15 | 16
BT/ -3 RE/RTHR -2 ait 15 | 16
Mt/ F 508 2 RELE/ i 3 V.P. 9.64 | 10.36
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16 =5EBA VS 1 I ¥0¢Em
= =
=5BA et el =5BA
it : &8 X BEW it : =% X tA==
RN 78 ik mg =R 7Y : Z=HFE0
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl & [ anTt | 2| s0 | & | sbx | -1 | 100 2
2 |mdtl & | aNT | 2 | 200 & | aNT | +1 | 120 8
3 |&AEl 46 | 2s | +2 | 170 & | 25 | +2 | 170
4 |wa|l @ | 4s | 2 | 200 m | 2s | -1 | -100 3
5 |Eitl & 3NT | +1 | -430 ® 3NT | +1 | -430
6 |FHAL it 1aH +1 450 1t 4H +1 450
7 |was| & | 2sx | 2| 500 | & | 1sx | -1 | -200 7
8 |wx|l m | anT | +2 | 460 | 7 | aNT | +3 | 400 | 1
o |mE| & |snT| 2| 50| 4t | 2p | +1 | 110 4
10 |wal 4t | 2H | 1 | 200 7 | 25 | -1 | 100
11 |wxel|l m | 4s | = | 420 @ | 2s | +2 | 170 | &
12 gl @ | anT | 2 | 200 ] 7 | anT | 2 | 50 | 2
DATUM% it iFE
=5EBA [-F0{EYm Z. 3+ ] o | 29
XB/THEE  -20 ZRER/ZFIR 1 Aait 9 29
H==/Z=HBEQ -1 LZEiH/ Tk 20 V.P. 4.42 | 15.58
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13 TS VS 2 SUXBA
H= A=
T AR A AT
It B % BE T % - me
B D8R 78 FLTER =] 74 . B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 4HXx -2 -300 [ri] 3NT 2 100 9
> |mitl & | anT | 1 | -100] & | anT | 3| 300 ] 5
3 panyiie] [ri] 3H -2 200 1t 3S = 140 2
4 WE=] [ri] 3D -3 300 [rif] 3Dx -2 500 5
5 |Eitl & 3NT | +1 | -430 ® 3NT | +1 | -430
6 ,?ﬁ [£3] 4H +1 450 [£3] 4H = 420 1
7 PE=] [£3] 1Sx -1 -200 [£7] 1Sx -2 -500 7
8 TS x 3NT +2 -460 [ri] 3NT +2 -460
9 ,?ﬁ 1t 3NT +2 460 1t 3NT = 400 2
10 | \WHB [£3] 3C -2 -200 [ri] 3S -2 200 9
11 | W [£3] 4S = 420 [£3] 4S = 420
12 | Edb [ri] INT -1 50 [£3] 2H -2 -200 6
DATUMiT T
I MLTHR SGERA Y. X+ 23 | 23
BXE/SER, 5 W/ TR 7 ait 23 | 23
me/DEl 7 BRAMIE 5 | Ve | o | o
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19 iRYItERR VS 12 F®YIBE
H= A=
I Y Y IR
it : [IEE% R (RDT 1t : ERR R EE
B EHR 74 E=E B ZEME 7g : {A3z58
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 3NT -3 150 [£3] 4HX -1 -100 6
2 it [£3] 3NT -4 -400 [£3] 3NT -1 -100 7
3 panyiie] [ri] 4HX -3 800 [£3] 3NT -1 -50 13
4 PE=] [£3] 2S = 110 [rif] 3Dx -2 500 9
5 it [ri] 3NT +1 -430 ® 3NT +2 -460 1
6 ,?ﬁ 1t 4H = 420 1t 4H +1 450 1
7 WE=] [£3] 1Sx -2 -500 x 3NT = -600 3
8 TS [ri] 3NT +2 -460 x 3NT +2 -460
9 panyiie] [£3] 3NT -1 -50 [£3] 3NT -1 -50
10 | \WHB [£3] 3C -2 -200 1t 2H +1 140 8
11 | W [£3] 4S = 420 [£3] 4S = 420
12 | Edb [ri] INT -2 100 x INT -1 50 2
DATUMiT T
irYItER: iR Y. X+ 25 25
AIER/EER -2 VeSS ELE: -6 ait 25 | 25
B =S/ IRV 6 AV 2 V.P. 10 10
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7 FiMEE VS 6 RIEEN
H= A=
Pra aEs aEa Pra
TS Pepy— - 7 - (IS
o e 7 Ee & ey
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 4HX -2 -300 1t 4HX -2 -300
2 it 1t 2S +2 170 [£3] 3NT -4 -400 11
3 |#zAml & | as | = | 420 | & | 4s | = | 420
4 E=] [£3] 3S -1 -100 [£3] 4S -2 -200 3
5 it [ri] 3NT +1 -430 75 3NT +2 -460 1
6 panyiic] [ri] 4Sx -3 800 1t 4H = 420 9
7 WE=] [£3] 1Sx -2 -500 [£7] 1Sx -2 -500
8 TS [ri] 3NT +1 -430 [ri] 3NT +3 -490 2
9 panyiie] [£3] 3NT -1 -50 [£3] 3NT -1 -50
10 | \WHB [£3] 2C -1 -100 1t 2H +1 140 6
11 | W [£3] 4S = 420 [£3] 4S = 420
12 &l & | anT | 2| 50 | & | aNT | -2 | 50
DATUMiT T
FriMEs 3l Y. X+ 26 6
ARSI -3 TR/ I ERE -23 ait 26 6
BB 2 23 R=/tRE= 3 V.P. 15.58 | 4.42
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9 SKY VS 4 [NERL
= =
SKY T MNERT T MERIT SKY
it : TEE R REE it : BKfE R EFEHK
M : VFIER 7g: 573% . TR 79 . mIRER
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 3NT 50 [£3] 4HX -1 -100 4
2 it [£3] 3NT -1 -100 1t 3NT -3 -300 5
3 panyiie] [£3] 2S +2 170 1t 4S = 420 6
4 E=] [£3] 2S = 110 [rif] 3D -3 300 5
5 it [ri] 3NT +2 -460 ® 3NT +2 -460
6 panyiie] [£3] 4H = 420 1t 4H +1 450 1
7 E=] [£3] 1Sx -1 -200 [£7] 1Sx -2 -500 7
8 TS [ri] 3NT +2 -460 [ri] 6C -1 50 11
9 panyiie] [£3] 3NT +1 430 1t 2H = 110 8
10 | WHB [£3] 2Cx = 180 [ri] 3S -4 400 6
11 | W [£3] 4S = 420 [£3] 4S = 420
12 | /el & | ANT | -1 50 g | INT | -1 50
DATUM%it iFE
SKY [HERT Z. 3+ 24 | 29
TEEMFXE 16  BK{E/DER 19 ait 24 | 29
FER/RIRE  -19 NI/ S/3E -16 V.P. 83 | 117
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18 RERRTRA VS 22 B=

F= ZIES

iRBRBERA koS koo iRBRBERA

1t : x: 1t : x:

B : 7 B : g :

x| mn| x| o || we | Bx | 2o |2 | mee | Z0 | 5B
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XNT5
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XFc
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Fadt

DATUM1t iF%E

RBARERA R F7%

/ O / ait
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